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ECONOMICS
arefImr

(Hindi & English Version)

1TOtal No. of Questions: 23 [Total No. of Printed Pages: 08]
[Time: 03 HDUI’S] [Maximum Marks: 80]
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() of gv7 af3ard &/
(1) 5 5 01 8 05 # 32 TegFre w7 &) W g7 O 01 9w ayarea ) (1x82=57)

(iii) 77 #5% 06 @ 23 7@ FdF FE7 4 AaRkw Awey kY 14 &1

(iv) 597 7975 06 @ 15 7% F® We7 U¢ 2 %@ parea &/ we W T 30 9%/
(V) T mF 16 § 19 0F FF W W 3 §F J@rca & a5 dar arrT 75 95
(Vi) W FHE 20 ¥ 23 0F AT W T 4 HF AT & A AT TTHT 120 % |

Instructions -

()  All questions are compulsory.

(i) Q. No. 1to 5 have 32 objective type questions. Each question allotted 1 mark.
(1x 32=32)

(ii)  Internal options are given in each question from 06 to 23.

(iv) Q. No. 6 to 15 carries 2 marks each and answer should be given in about 30

words.

Q. No. 16 to 19 carries 3 marks each and word limit is approximately 75 words

(v)
Q. No. 20 to 23 carries 4 marks each and word limit is approximately 120 words

(vi)
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0 Rbe v fafen - (1x6=8)

(1)

(i)

(iii)

(iv)
(v)

(vi)

W YRT & ygel o g ad & 12 of?
() 1948 (@ 1949  (§) 1950 () 1951 LA
WWWWWMWWW?— ﬁ

(&) R ARy q

(W) wfege %a')) ?gig:l:

YRS WEHH TN T WRIE @ —

@) 0 ¥ Mg am @) FomE® IFa | gATHS IAT AP
@) 1341 a9 (@) dad +1

XA A AT ST @ e 5 af @ e

() 1948 (@) 1950 (@) 1956 (@ 1991
et 3 aﬁﬁwwwﬁﬁrﬁmmﬁﬁaﬂﬁé?

(@) w@rezy ¥ fray

@ o & IRM gRE
(M) WP qRagd amawen ¥ faw

(?) fenm & fay

Pt & & B ve dRes T 6 ¥
(@) w1 € -8
&) s - 20 €) fava ¥

Choose the correct alternative -

(1)

(1)

(i)

(iv)
(v)

(vi)

In which year the first Census of independent India was
conducted?

(A) 1948 (B) 1949 (C) 1950 (D) 1951
The most commonly used measure of central tendency is -

(A) Arithmetic mean (B) Quartile

(C) Median {D) Mode

The range of simple correlation coefficient is -

(A) 0 to infinity (B) Minus infinity to plus infinity
(C) -1to+1 (D) Only +1

In which year was the Planning Commission established in india?
(A) 1948 (B) 1950 (C) 1956 (D) 1991

Which one of the following is not a source of human capital
formation?

(A) Investmentin health

(B) On the job training

(C) Investmentin road transport system

(D) Investmentin education

Which of the following is not a global group? . E
(A) SAARC (B) G-8
C) G-20 (D) World Bank 2
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Rea wm) & g e - (1%6=5)

(i)  IRARE ﬁ?rwr anaﬁ’r ﬁ UF WIEETE AR g B Pl

T ¥t 2 | K
(i) T = we} ¥ wRadk @ R A g '
(iv) NP BT GEBIS BT T ..o ﬂaﬁqmﬁﬁﬁ’mmﬁl
(V) ST STTA D T TG FATAD oo HE W B
Fill in the blanks -
() oo is the basis of all economic activities.

(i) Frequency distribution is a common way of classifying
................... data into a quantitative variable. :

(i) Medianis.................. , affected by changes in extreme values.

(iv) The Wholesale Price Index is used to measure the rate of............

(v) The owners and operators of their own enterprises are called...

(7)) I e Movement is related to forest conservation in the

Himalayan mountains.

T FUaT Iy fAafaw — | (1X6=6)

(i) R, SR @ BRI B TRAMS 7 B FiHAT 8 |-

(ii) a‘@amﬁaﬁgaﬁr%f’mmaﬁﬁaﬁmﬂﬁ%h

(iii) Wiaian%?ﬂﬁrﬁﬂfﬂrﬂ%%qmﬂa‘lﬁ%l;

(iv) aRa ¥ aRE & R &3 o1 e @ A e €|

(v) SO oMU @1 SR GHATHSd A Sftei A A # gfg B B 1

(vi) ofared f R-Tdiaela e €

State true or false -

(i) Distribution is the process of giving remuneration to the factors of
production. :

(l) Mere averages are not suﬁlc:lent for comparing series.

(i) The indexes are used in economic policy making.

(iv) In India, commercial banks regulate and control the financial

sector.
(v) Ozone depletion is caused by the increase in the amount of 0zone

in stratosphere.
(vi) Fossil fuels are non-renewable resources.
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T M SR

(1x7=7)

L (®) @)

() 9 RaRe o (a) e

(i) - Rerfae (b) g e :

(i) DS B qR e ww § () g & :
(iv) m o

v P i a1 &

:v!)) RAIRICE (f) e seamm

Vi) M9 ey Thad agefa—‘,
Match the columng - @

_ (A) (B)

() Cumulative frequency curve ~ (a) Median

() Positional value (b) Retail price

() A measure that divides a figure (c) Primary sector

~ Into four equal parts

(iv) Consumer Price Index (d) Service sector

{v) Banking (e) Ogive

(Vi) ~ Animal husbandry (f) Life expectancy

(vi) Human Development Indicator (g) Quartile
U g H IR AT — (1x7=7)

(1)
(ii)

T AU 3 forg waifd Suqae s diwr 27
(i) e Feday &1 fdor g s gr fear T o

q%] U4 991 I &9 1R $7 3¢ 22

(iv) gﬁﬁﬁq@%ﬁmﬁuﬂgﬁﬂﬁgﬂ:mﬁammm
?

(v)

aﬁi’mmﬁwmmﬁﬂ%‘?

(vi) 9fd Uo &R qoNl # ARl & U & R el o 87
(vii)y 1970 & 9@ W SaE AT 8q 99 4 dFE Afd arp @ T8

oA?

Answer in one sentence -
Which average is most appropriate for qualitative measurement?

Rank correlation was developed by which psychologist?
What type of tax is Goods and Service Tax?
Which method of agriqylture restores and preserves environmental

(i

(il
(i
(iv)
(v)
(vi)

(vii)

11061-25111-A

balance?

Operation Flood is related to which good?

What is the ratio of women per thousand men called?
Which policy was implemented in China for population control in

the 1970s?
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ue ;’L“"“'"\‘ VD A ) v [l 2 figalt & AR e fafe
fite the need to studying Economics on the basis of any two points.
- sua/OR
YU § TR ) sz @) e AR

Explain the need of statistics i '
e Teeado s in economics.
97 E“mma%maﬁmﬁzﬁmm:mml LA
ame any two methods of collecting primary data. -
_ yerar / OR
fed® sitest &) ofnfvg @Rt

Define secondary data.
us m$mﬁmw$aﬁé2m%@m
Write any two objectives of classification of data.
| areEa /OR
tet & sl SRR 2 w1 BT
Explain the graphical presentation of data.
U9 WHINR HRE @ 2 o fafrg |
Wirite any two merits of arithmetic mean.

aear/OR
Aifeast @ $1g 2 o1 fiRa |

Write any two merits of median.
%10 WO ARG B gReiia Hfe |

Define scatter diagram.
Jerar /OR
HEHaY NG @ By 2 o1 faRav )
Write any two merits of correlation coefficient.
Y11 WRd 3 Uoadia e @ @18 2 e fafEy
Write any two goals of the Five Years Plans of India.
ar/OR
wra § & #Ra Fify @ e 2 figal @ IR W W PR |
Explain the Green Revolution in India on the basis of any 2 points.
912 w9 Yot @ aReafia Sifor |
Define human capital.
e/ OR
Hf fagor @1 3t forRan |
Write the meaning of agricultural marketing.
w13 s 58 FEd 87
Who is a worker?
et/ OR
uRvira R & o S |
Define sustainable development.
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eIn anfotes &)y o) s AN | ' @)
Explain Special Economic Zone.

) 3rerar/ OR
Eﬁ?|$ 12 oMy BRa st o woe BT
Xplain the “Great Leap Forward" campaign of China.
0 R vy oL OIS CaMpai @
Write the indicators of Human Development Index.

Jear/OR
ﬁﬁ; T R FT 3ef frfaw |
Write the meaning of infant mortality rate. _
P 11H & 10 ot & srefure fwg ¥ wrais AEfiRed 1 i@ A
! @ or Afere | ©

25
45
40
32
36
38
50
52
33
10 39

Following are the marks obtained by 10 students of Class 11™ in

Economics subject. Calculate the median from the data.

Students  Marks obtained
25
45
40
32
36
38
50
52
33
39

LCO~NDIOAWN =

SN BN =

3gar/ OR
Preferfad areft 4 (6 FREM & 10 79q & 2% oma & 1 2| gy
Hipe A AHIIR I DI AVHT HIAT |

Ty afw ama (TH)
120
150
180
200
250
300
220
350
370
260

——TOOMMOoOOW>




W17

9.18

9.19

9.20

The following table gives the daily income of 10 workers of a factory.

Calculate the arithmetic mean from the available data.
Worker Daily income (in¥)

120
150
180
200
250
300
220
350
370
260

BT SIS T AT GG F T AR 27

What is the difference between a Price Index and a Quantity Index?
avar/OR

?mﬂ?ma%mw'r',J T +1 WG @ diex Rerd & q&dl

Can ‘' lie outside the -1 and +1 range depending on the type of data?

ST ST e YR X SE 31 EREw Jar ¥l 8

Explain how import substitution can protect domestic industries.
avar/OR

ﬁﬂaﬁmﬁﬁnﬁqﬁwaﬁmaﬁmﬁﬁm

(% A fd3)

Explain the need of land reforms implemented in the agriculture sector.

(Any three points)

oy (geT) @ ome B BE A IRl faAra

Write any three causes of soil erosion.

s/ OR
amﬂﬁﬂaﬁuﬂnﬁuaﬂﬁa%mqﬁa%ﬁﬁiﬁmwaﬁmaﬁﬁﬁﬁa
figaii & T PIfT |
Explain in any three points the need for diversification of agriculture to

make livelihood sustainable. . _
mmﬁ?wwmﬁ%m$mwm|

What is a variable? Distinguish between a discrete variable and

continuous variable.

year/OR
W$Wﬁmaﬂa§qwmmﬁmﬁmm¢wﬁﬁ
are Pt |

While explaining the tabulation of data, explain the parts of a good
statisticaltable. B

C—TITOMMOO D>
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%23

RIGUCEI S I @ o HUA & Al B T A
I H URE 1 Qﬁ'fﬁtw

o
TE a1y IR &) FHAIM A {@n

10-20 4
20 - 30 10
30 - 40 15
40 - 50 8
50 - 60 20
60 - 70 12
70 - 80 14

80 - 90 03
Based on the following data, calculate the monthly mode income of the
employees of a shoe company.

Income per month (in 2 1000) Number of employees

10-20 4

20 - 30 10

30-40 15

40 - 50 18

50 - 60 20

60 - 70 12

70 - 80 14

80 - 90 03

GN'CITZOR

Rt e 3 10 B g B T o B e W (P aplE @
I &1 qRead o —

30, 28, 18, 21, 23, 36, 38, 40, 32, 26

Calculate the value of “lower quartile” from the data of marks obtained
by 10 students in an examination.

30, 28, 18, 21, 23, 36, 38, 40, 32, 26

qq1 &§9F & I N o foy St 7@ oRSG B9 @ 87

What are the major factors responsible for the high growth of the . ~

Service Sector?
rEr/OR
AR sefaawn # #e {9y e RRufal 8 e sRo I8 five &
TR WO $% g9 ¥ 2| ajda gRRfaar @ 87
Indian economy has certain advantages which makes it a favorite
outsourcing destination, what are these advantages?
Ry e @ e fawra § Ren A1 ffer &1 v Fifng |
Examine the role of education in the economic development of a nation.
semar/ OR
A AE-T9 @ &7 B gH A @A g 9RO R A ar oty
H9RIgd |

Keeping in view your localty, describe any four strategies of sustainable

development.
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